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Attempt ol questions. (J%F X! & 3aT GFD
Answers may be written either in English or in Hind but the same
medium should be used throughout the paper.
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(1. Can an argument he valid with false premises and false conclusion?

Explain. 3
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(.2 What is a “term? Explain and illustrate the relationship between i3
connotation and denotation. 3
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3.3 State features which separate propositions from the rest of the sentences i

a language. _ 3
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How terms are disiributed qualitatively and guantitztively in categorical

propositions.
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Q.4 Through ‘opposition’ between categorical propositions state their truth

value relations. 4
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Q.5 By making a ‘blanket existential presupposition” we can save the
Traditional Square of opposition. Discuss. 4
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Q.6 Rewrite the following in their logical form and give their contrpositives:
. 4x2=8
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1. Oniy birds can fly.
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2. Cats are not lions.
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3. Fruits are rarely vegetables.
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4. Not every novel is a satire.
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Q.7 If *All pilots are healthy’ 1s given as (i) True and then as (i1) False,
determine the truth and falsity of the following propositions: 2x2=4
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1. Some non-pilots are non-healthy.
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2. No pilots are non-healthy.
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Q.8 Test the validity/invalidity of the following argument: 6
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Some fruits are tasty food, so some tasty foods are nutritious as all fruits
are nutritious.
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Some singers are not graduates. Some musicians are singers and no

musicians are not graduates.
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Q.9 Test the validity/ invalidity of any two of the following: 2x3=6
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Q.10 Prove that the conclusion must be particular in third figure. 4
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. In what mood or moods, if any, can a valid standard-form categorical
syllogism have just two terms distributed, each one twice.
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Q.11 Explain and illustrate the following informal fallacies: 4x5=20

1.

2.

3.

4.
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Amphiboly or Accent
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Complex question or Hasty Generalization
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Argument from Ignorance or Ad Hominem
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Straw Man or Begging the Question
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Q.12 Identify and explain any two informal fallacies committed in the

following: 2x5=10
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. Save water and waste paper.
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. Water extinguishes fire. Oxygen is part of water. Therefore, oxygen will

extinguish fire.
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. .What is morally right is morally obligatory. What is morally obligatory

is what you should do. Of course, you should do something because it is
the right thing to do.
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. Everybody is getting married. So, you should get married too.
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